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(1] (4 marks) Find the distance between the spherex? + (y — 2)*+(z + 3 =25"

dthe plane 3x.+ 2y —2 420 =0. etecler Co, 3, -3)
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[2] (6 marks) Consider the paratietogram——
(gl o 354) ABCD, '
E Q’ with vertices: A(2,-1,4),8(1,0,—1),C(1,2,3).
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_}F Z ::}ﬁl (4 marks) Find patametric equations of the line passing through the point.

v ¢ (2,—1,3) that makes an angl(f-/,h'ilh x-axis, and angch /}'fiﬂ'l.f-h'-'- y-axis. ero
, @ e B — --
R T

£
dr'rﬁ;ﬁhq. E.r fe (ine . c‘s < IU Cosoie » | vl é;i( 2 ]ri/c‘-‘/l"p

Fa -F'{Jf rLomsy
Conetl (Cos BT Cos bt 5 f ascome VL faﬁ ¢ , KO

Wi«
[\f‘g t A (%- J'L " “-451 4;..-" C;’('u<i_‘¢_'}__1 )[ > 5 Pﬂl'wl‘ (I!(_ll.f:i:)

/

L Fo -
% '?"tf- 'rf"SﬂL:i; Ao 2 % mae

3 s =1 :%-'-*F'H_
L 'ﬁz ¥ < 2_/
[ Xs EJ > >

Scanned by CamScanner




@) ;

[4] (B marks) Consider the lines:

L: x=48 y=3-3t; z=-2-1,
Ly x=1+5 y=4+s; z==1+s5s.

(a) Find the point of i 1nt+:rsccl10n between the two lines.
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l% }ﬁ] (4 marks) Name and sketch the surfaces:
/;{njx=f+z|_=—?y_-—41+5
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